

# Convertir Celsius a Fahrenheit (A)

Estime o convierta las temperaturas.

$$-71\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-11\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-55\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-86\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-11\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$55\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$17\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$82\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$28\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-41\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-25\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$72\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$94\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$66\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-82\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-13\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-57\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-11\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$31\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-97\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$62\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$77\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$55\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-21\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-5\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$74\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-54\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-91\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-16\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$

$$-43\text{ }^{\circ}\text{C} = \text{ \_\_\_\_ }^{\circ}\text{F}$$